== A
N & o & AF & H Al A
20158 & =04 BAASSESIAH HA
A B2
FM: MEHIISMe £ NAMEBE(RZES/HIIE)
ool HAZe(EAMSSESA) (&)
L=
SA - BB B (BA) - MM - BHES Ol &+ o4 Lle HmEET
Ol &+ 2
HAD 47,400,000 46,300,000 1,100,000
= 5,221,500
< 27,000
Al 42,151,500
MEFHIISsMel £ N2NEE(HZES/HIIES) 24,958,785 24,812,332 146,453
= 5,221,500
< 27,000
Al 19,710,285
Fazel(HAMASESA) 3,745,435 4,329,221 A 583,786
=L PSR 1,016,231 1,036,654 220,423
201 Let24d] 167,517 167,937 A 420
01 At 22/l 165,517 166,437 A 920
O1.det==2H| 110,041
-HAME YEr=EZH| 2,700,000& 2,700
-NEA) AtBE 50,0003 x20f & +12& 1,200
-2Z 08ty =Xsl2 LA EH
120,000 x 10 &+ 128 1,440
-HMEZH E2&80 RUFHES
110,000 x 10 A+ 12& 1,320
-2Z0IsE S2EE8F 7Y
3,000& *x312H »23| 1,872
-EAXE ARESE MA(LM)
500, 0003 221 =4 CH 4,000
SIIE2HAE PPEM A2 S 2Y
1,440,000 128 17,280
-HAE F2 2 400R*312Y 0B | x128 13,479
-MYDIE0ID Y B2SH TV ELE(BS)
36,000,000& 36,000
-230Istd =X 22d L= |
180,000& »12& 2,160
-HEHII=E ERE3S ME  160& %150, 000 0K 24,000
“HAXE MEMYD 2 EE2 MR
130& *3Z+9,0000H 3,510
“MYDl =HHE AEIHME 1202 %9, 00004 1,080
O3.2d=¢ 980
-230IsA FAHLEHIIS 2EAAF =
70,0003 *24& 140
“HOISEXMelAld FEISXNS FUXNAIIS
2ERe &+ 70,0003 x6H +23] 840
O4.1l =8| 6,120
-Haidg 23 6,120
A= (SHIIAL L& 130,000& »34H 4,420
=kl 50,000 *34H 1,700
O5.2 &l 48,376




—— A
N = 0 & AF S 99 N A
20158 &= 20 A HAANGEESH HAW
A B2
MM MEtHIISXe 2 NFME2(HHFES/HIIS)
S HAZAZ(EAAMNGELEZAH) (2 &HH)
- RE]
SA BB (SH) - NRAY - B Ol &F o4 %@ﬁ HRE2
“HAHE 92 24 34
7,000 x8H x8L x12& 5,376
—HAXNEY 28 MEZAH(SHIIAF ZE)
4,000 *43H x50 43,000
02 Z2=2=294| 2,000 1,500 500
O3. A& &H| S XYl 2,000
-SHE0I3E AAMNSHAAE XL+
2,000,000& 2,000
202 044l 13,360 15,133 N1,773
01 2L Y| 12,060 13,860 A 1,800
OHAME A2 0IY|
60,0003 *7H *3 x73| 8,820
OHJI2XdelAld =80
60,0003 *3H *3 63| 3,240
03 =220 1,300 1,273 27
OFYUEIXMNA A&XAS 015223 0y
1,300,000 x1H 1,300
203 €2 F=&d| 1,800 1,800 0
03 Al ZH =X 2= XIH| 1,800 1,800 0
OF A2 AMFR FRFAH|
1,800,000& 1,800
206 M = dl 8,000 8,000 0
01 X2 8| 8,000 8,000 0
OMEO & =8 a2 8,000,000& 8,000
301 2Bt A= 4,550 8,392 N 3,842
0B AISI=SR2IL A= 4,550 8,392 N 3,842
OM=ERRA 4,550
-JlE23 149,000& x1H ~12& 1,788
-= Ald| 7,000 x1Hx22L %128 1,848
- S| 2,400 *»1Hx22 x12& 634
-1 24| 140,000 * 1Y %23 280
307 2iz2to| A 821,004 835,392 N 14,388
05 QIZ2tR E 2 821,004 835,392 N 14,388
OFAx7Y Biztgga 821,004
-SCXd 68,417,000 x12& 821,004
HANE2Y 1,224,932 1,205,362 19,570
101 124 4| 442 504 442,504 0
04 JI2ZtHIZ22NEES 442 504 442 /504 0
OSASMHUI =AM HBERY 2l (=Y
el &) 442 504
-0l d| 5,300 120 x52A] 2Hx12& 396,864
-4 2232 396,864 ,000& *11.5% 45,640




A B2

FM: MEHIISMe £ NAMEBE(RZES/HIIE)
ool HAZe(EAMSSESA) (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
201 L2l 771,628 746,058 25,570
01 At 22l 742,100 717,630 24,470
O1.det=2Hl 733,700
-MYIIS-”ED SBAR ®a ZEH AR
= 1,350,000& 1,350
-MYJI=S-”EI 0 E M
25,000 900K 2,250
MY IIS-EI ALXCHHE M
2003 *35 *1,00004 600
“MYIISEMH RASE M 714,920
Y 32:&+510,0000H 16,320
104 39& +3,000,0000H 117,000
© 204 59& *3,500,0000H 206,500
° 504 1243 1,150,000 04 142,600
1002 221& *500,0000H 110,500
C HAES (200 ) 61& +2,000,0000H 122,000
-R01ZH AEZ(MYIISEHEE B2&1D
) 110,000& * 101 A+ 128 1,320
-2 EE 228 57 221260, 00004 13,260
Ob5.= &l 8,400
—&wm%a57|9$24m9| A A OF
2422 Z4 7,000 3«25 «43| x 128 8,400
02 =24l 29,528 28,428 1,100
O1.2323LAA 19,428
-MYJISEED RERS
1,930& 3004 128 6,948
- AIIt0e 298 SRS
40,0003 =26CH x12& 12,480
O3. Al ZHlK* Xl 10,100
-MYDI=S-EED ZAISH0e FXES
350,000 *26CH 9,100
~MYIIEEEI TS AQE GFLHEH(CCTY) R
ANE = 50,000& »20CH 1,000
301 et A= 1,000 1,800 A 800
11IIEIEA S 1,000 1,800 A 800
OMEDIEgE I MOEZAS 50,000& »20A 1,000
401 Al HI & 28I 9,800 15,000 A5,200
01 A& HI 9,800 15,000 A5,200
OXeJISdEI ZAIE3t0et £X
700,000 =144 9,800
HANE ()R X2 906,298 859, 153 47,145
201 Let24d] 729,228 713,223 16,005
01 At 22l 13,455 10,530 2,925




A B2

FM: MEHIISMe £ NAMEBE(RZES/HIIE)
ool HAZe(EAMSSESA) (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
O1.€8t==&H| 13,455
—HAXE FHIEA =22 33,000& »37CH 1,221
-EAXE SESA =2 72,000 370K 2,664
~HAX 2EIA 2 2
1,000 »47H »5& | x12& 2,820
~EHATE CNGRHIA(HLEI]) FINZA ==
=3 750,000 «9CH 6,750
02 232gHl 715,773 702,693 13,080
O1.8332LHA 54,280
-EAXE BEE 800,000& »47CH 37,600
—“SEAIA ALE = 700,000 = 12& 8,400
~HANY BINLRLS
180,000& #230H »23| 8,280
O3. A€ ZHI =Xt 7,556
-2301sd =2Xa& A= 7 X Ul
3,698& *2,043m’ 7,556
O4. Xt & o el 653,937
-E AT 13,223,000 47 CH 621,481
-H&&d |X2cltl 32,456
A D] 3,239,000 =4 CH 12,956
SIE=) 500,000 »390H 19,500
206 = Hl 32,070 30,630 1,440
01 MHZ 4l 32,070 30,630 1,440
OLHEAX Ed 2L
150,000 3 »4CH«12& 21,600
OFAXE XNIEHIE ME
100, 000& x2& * 123l 2,400
OFALAXEE HIXE =% 2 (ESB)
30,000 »47 CH 1,410
OFAXE MIAE 228 Mz 7L
150,000 x5& *33| 2,250
OHAXE HMWE & XE DRE 2
70,000& *21CH 33 4,410
401 AIEHI L 201 10,000 46,000 236,000
01 A& HI 10,000 46,000 236,000
OLH3dEAXE = 2,500,000 =4 CH 10,000
405 XHobF S HI 135,000 69,300 65,700
01 et ESFH S 135,000 69,300 65,700
OFAXS(2.58 TINEZ) 46,000,000 =1CH 46,000
OBALXZ(5E CIEAFZEN)
89,000,000 = 1CH 89,000
ol g1yl 597,974 1,118,552 A 520,578
801 Gl HIHI 597,974 1,118,552 A 520,578




A B2

M MBS € NAWS2(BILS/HIIS)
el A (HAMNESEIN) (s )
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
1Bkl gl 597,974 1,118,552 A520,578
OIGEIE:] 597,974,000 597,974
He&ae ¥ S (FLALSEH) 10,793,213 10,693,034 100,179
= 5,216,000
Al 5,577,213
MYDINEE 29 5,075,700 3,911,521 1,164,179
101 2124 55,747 52,051 3,696
4JI2R22NNEES 55,747 52,051 3,696
O F22 (ZAR) 22|
44,6402 x4 %2802 49,997
o4 Jlaega 49,997,000« 11.5% 5,750
201 Ler2HH| 1,135,975 1,082,977 52,998
01 AFR 2211l 234,298 267,212 A32,914
O1. Lt 24| 181,690
“HAANE Loty 1,800,000% 1,800
-HEE 29 Lot 2H 3,600,000¢ 3,600
-SHYEEMRAALE 29 Lot
3,000,000 3,000
A2 g 94 2X322 3,000,000 3,000
-H 24 RFIE 2 =X Y
2,000,000% 2,000
-HEZE sded =53 482 133,844
g s 600,000 x8IH A « 122 57,600
HE & XIsta BALE
500,0002 «7JH 2 x30H & +4 3] 42,000
OHE & XIGkas Hi A=
500,000 74 2 x43] 14,000
T EY QAL AMN(ES1,Q8,HY)
1,287,000 *30{ A 404 X & 15,444
SHaYEHAANE =Hal B2 ZAH(
5E1) 200,000 * 17§ A *204 K| & 123 4,800
-HEE Moot dBe a2 (5S1,55
2) 660,000 *2JH A * 128 15,840
-SSIHEE A2 HIBA =22
500,000 «2CH *13] 1,000
SIS HIZAM 222(FF,40F)
4,900,000 24 A 9,800
SR AIS 22 HIIZM 222 (RER)
6,306,000% *1J§ A 6,306
-SSIHEE ®IILH HIHA =42
1,500,000 « 12§ 2 1,500
O2. A& nsH| 500
—~EJIO BRI X YISt mSH 500,0002 %13 500
O4.1 =2 2,640
-SSHEHE 22X 2,640




2N Ha
M MEHIIZSXM L NAMEES(HEES/HIISE)
e e ¥ RIS (HAMSSEIA)

SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
T ag=E 130,000 16X 2,080
ReiESh=l 35,000 16X 560

05.3 4| 12,768
“HANY A2EF 24
7,000 «3H 8L« 12 2,016
-HEZE OFAZ 2R =4
,000& 16H x8L »12& 10,752
06.24 %2 36,700
-SOYE 2ETH AR
2,500,000& *43] 104 2 10,000
-Hl&0H d&= 28 01&& 2Xt
3,000,000& *43] x20H A~ 24,000
—SHaEEMAL ~x2l 24 Hulg 3
dlel &t 450,000& =63l 2,700
02 3322l 901,677 815,765 85,912
O1.223LAHA 491,060
-Gl MHEE(SS1-2, 582,51
ZANE) 3,120,000 x12& 37,440
-S=2MAI| =S ASH 120,000& * 13l 120
“HIIR2(ESS , YFSEFAIER 8IHA)
36,500,000& 12& 438,000
s ¥ YEZIFALE I, FUHEEE(
7TH) 13,000, 000& 13,000
-HEE I S8 23
125,000& 100 »23] 2,500
O2.¢9 =l 7,488
-Hegtd g2 ¥ RIH(&S1 2,28 5K
EONE=D! 1, 200%*1200'*8)\|3|’*47HA 4,608
-SHUEE 293 E A=l
1,600 x2¢ *1502 *2CH *30H £ 2,880
OS3. A€ &I Xl 403,129
-SS1,2 HEd & SEZFAL 92,893
HEsd 2ZA8 CCTV 28 RXb(5S1
2,UYELIAIL) 500,000 = 11CH 5,500
R/0 AIAE S K22l
15,000,000& = 1CH 23| 30,000
=SEIZ =&l 300,000 1504 4,500
T HMEAE =87 Xl 3,000,000 = 1CH 3,000
2els 2 FUHAIESX
2, 7173 +2,095m 5,693
&=J] & JIAEFX =81 X H|
3,000,000 =3CH 9,000
g§20] A2E WHbI 3,000, 000 *3CH 9,000
£ F2AESE2HE =&l
500,000& x10& 5,000
TAEAIE =8 KXl 2,000,000 =2CH 4,000
A &Y =% XYl 300,000& x5& 1,500
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A B2
I dEHIISXNe ¥ VML E(BBES/HII=S)
el g F2el E 2S(BLANLSEIN)

SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
HEe ¥ ZR8 2HRAB(2S] - 2,
SHE&E XMl AIL) 1,000,000& »7H 7,000
SIYFRI A2F WHUI
500, 000& »3CH 1,500
JIH & 88 4| 100,000& x10& 1,000
C S S20HYE AMII4Hl BHeel wH
1,200,000& *12] 1,200
C SH==EEXMeAE £20 A2F Wi
2,500, 000 2CH 5,000
LN E 24,800
° R/OAIAE! R X 22l
10,000,000& = 1CH 23| 20,000
SFEIZ >4HH| 300,000 »6CH 1,800
B2t =44l 1,500,000& »2CH 3,000
S NERNY(PEBE, 58, 48)
1,000,000& »23] 2,000
-H&= MelAlE |X2eltl 21,000
SE 1HEE(SH= gEgHa)
8,000,000 8,000
S 20HEH 5,000,000 5,000
EME E 4,000,000& 4,000
TEZMHEE 2,000,000 2,000
QEHMEHE 2,000,000 2,000
-SH YEHMelAME S ER"sdX ELHa(
s519) 70,000& »400m 28,000
-HEE ¥ dEZFAL U RAH(SFH
2L ==2/dl) 205,464
E=pS| 33,000,000 =2CH 66,000
=400] 27,500, 000& =3CH 82,500
204 33,000,000 *1CH 33,000
HEEH 7,432,000& »2CH 14,864
KIHIXH 9, 100, 000 *1CH 9,100
-IHEE ¥ SEZFANE BSRAU(RFU
2 2ldl) 28,972
L= 3,338,000 = 1CH 3,338
AEE 3,338,000 = 1CH 3,338
#HI=Ze 7,432,000& »2CH 14,864
N EHE(128) 7,432,000 = 1CH 7,432
202 oddl 5,400 3,240 2,160
01 20l bl 5,400 3,240 2,160
OEd g8 & AZ24 2210
60,0003 *5H 3 63 5,400
206 M= Hl 1,345,828 1,649,787 A 303,959
01 W=l 1,345,828 1,649,787 303,959




2N
CdE
el

X ZH
S =

EEnt

gz

JI2xdel ¥ HEMES(H#IES/HIIE)
e ¥ 2 (FLAASSLEIA)

SA - BAEN) - NRAY - LS 0l &F 24 il HRE2
OSSHY a5+ 282 2 Jrnga 2
2 (P.ER) 117,420
~HE4 2XB(P.ERTH,1200m)
480,000 *76m 36,480
OtA BYB(PERBE) 53, 160
#1,000m 280,0002 *180m 50,400
# 150mm 23,0002 *120m 2,760
018 AHIAA 27,780
#1,200m 350,000 *26% 9,100
$1,000mm 290,000 *60% 17,400
# 150mn 32,0002 *40% 1,280
OMYE &+ Mol ABH(ES1-2,28E,
) 994,040
e gE 1,5002! +80kg+ 1132 13,560
B MBI 100,002 *0.5m *2502 2,500
-1EX SFH(0IR)
5, 0002 250kg*2502 312,500
-DE2X SHH(S02) 50002 «8kgr2502 10,000
~Oba A CHE0%) 40021 ¥2,000kg*2502 200,000
~Jb & 4 CH(20%) 2202 *1,300kg 2502 71,500
R = 18,0002 %102 *1002 18,000
- & (35%) 12021 #650kg *3652 28,470
~& M HI2E 12021 #1,500kg *2502 45,000
~2E(AE)H 3,000 *30kg %3002 27,000
XOPAAMUES 22091 #55Kkg *2502 3,025
-5 150,000 1.0 *2502 37,500
-RIISMBH(R/0)  11,5008x202 *3652 83,950
~2IISHBEH(R/0)  11,5008%202 *3652 83,950
e H 3,00021 204 *3652 21,900
L] 23,0002 +37 *3652 25,185
OMEESY FUM(BS!-2,8H%,28) 7
o 234,368
~RY g4l HLRME S ABY
25,0002 50 *43| 5,000
-2UAN S HIISE 120,000 %205 2,400
SO L HWBEHUIE R 4,000,000% 4,000
-JbA 40,000& 40 2 +62] 960
-DgEDa 3E 3,000,0008 3,000
R0 2Y 22E PY(552,28) 190,200
22 2 ol 36,0002 x2, 50004 90,000
=R 36,0002 x2, 50004 90,000
JFERINEE 34,0002 *3007H 0,200
—RAHHRIE A Y HERY
180,002 *307H 5,400
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A =
H: MEHIISHMe L NHEHEE(#IES/HIIS)
©el: HgEzel ¥ 2 (FAMNESEIA)

SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
-R/OAIE PHEIA P ¢ 1,000,000& 54 5,000
-SH= 9&xcAd HHME 7
400,000& «10&*23] 8,000
-SH= 9&xXaAd dUlME 7 7,750
B 2+ (100A) 100, 000& *50m 5,000
sSeE 250,000& 574 1,250
SUANE 300, 000& *5JH4 1,500
-SH=a S8 M2AIE JIHEH As5R 7Y 2,658
HEs= 88,000 x104 880
UHESH 59,000& =104 590
S AFL 2 (100A) 118,800 »104 1,188
207 91PN 2yl 8,750 23,750 A 15,000
03 A& & 24l 8,750 8,750 0
Ox=Z2=24E8 =XI|+2 50,000& «10&*23] 1,000
OFZEEZNE ML (LZLIOE EAQ 4F)
200,000& x5&+523] 5,000
O==&Z=Z& JIH, I+ 250,000& 53 1,250
OF=+8% PHEE S HOH 2
15,0002 = 10074 1,500
401 A& HI L RO 2,524,000 875,216 1,648,784
01 A& HI 2,524,000 875,000 1,649,000
OSH=-HEM2AANE RIE E=2U AEH
2l 100,000& *28= *365 1,022,000
OEHN U=d 10,000, 000 *2CH 20,000
OHolIZ2C U=« 15,000, 0003 = 1CH 15,000
O=4D t=d 5,000,000 »2CH 10,000
ONEHE HSESMWE =828 2 Haltl(&32)
80,000,000& » 14! 80,000
O =20HE 2 MY (2E) FIHESDIA
335,000,000& * 174 A 335,000
Os=20HEdE MEESE EBOIN B2
20,000,000& * 14 A& 20,000
Ozss20lgd &=+ Mels &5
80,000,000 » 101 A& 80,000
OsS20gd AE+XelAld SH(80E/Y)
900,000,000& 14 A 900,000
OEMEHE M= HEAIE S=HH 2
S A 20,000,000& =14 A& 20,000
OssHEd AME =4 22,000,000& =14 22,000
MEHIIS NEHEBE AL 501,513 985,513 A 484,000
201 LEr2 Y| 44,088 54,888 10,800
01 At 22l 28,800 36,600 A7,800
O1.dBt=2H| 13,800




A =
H: MEHIISHMe L NHEHEE(#IES/HIIS)
©el: HgEzel ¥ 2 (FAMNESEIA)

SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
“MEBHDIE AEEIAL Lo
3,000, 000& 3,000
-HOIEHME RIS X2l 450,000 «23| x12& 10,800
O6.8xt=z 15,000
—YEETAL HY HHEL FHH X
15,000,000& 15,000
02 =224l 15,288 18,288 A 3,000
O3. A€ ZHI =Xt 15,288
-A =KXl 1,118& =1,599m" 1,788
-Agolerd ? HH =&KXl
1,500, 000& 174 2 1,500
-MEHDIE YEXIFALE S22
10,000, 000& 10,000
—HERHII2 SEEEAE HEANLE =88 X
]l 2,000,000 = 1CH 2,000
206 M= Hl 357,425 410,625 A53,200
01 =8l 357,425 410,625 A 53,200
OHMEHIIZS LdEZIAMNE 23 357,425
“EENRM(AEES) 1,540& »x225kg 250 86,625
SEANM(AEYX 28)
1003 *120m*900 »230 & 248,400
-HEEE va £w 2
6,000& «10001 x12& 7,200
—EEEZIANE 22X A2F 7Y 7,000
2= 5,000& «10H «53| x 128 3,000
COHHDtAT AN ATR 1B
200,000& x10H »23| 4,000
SJ10iR ¥ J21A9 25 2000002 #4545 3.200
~SETIAL JIHAY ARBOIMAL 6
E) 5,000,000& 5,000
401 A& HIZ 201 Y| 100,000 520,000 A 420,000
01 A& HI 100,000 520,000 A 420,000
OSS1HEHE dSETIHY 42N &XI(25,
000 ) 100,000, 000& * 14! 100,000
IIASHIISE M AL EXNAIE (BEX) 3,063,000 3,404,000 A 341,000
= 3,063,000
403 X SHHSA=0l& 3,063,000 3,404,000 A 341,000
= 3,063,000
02 S| 2 S0il CH &HCH & A H 3,063,000 3,404,000 A 341,000
OJHHEIISEMelAld SXIAS
3,063,000,000& 14 3,063,000
= 3,063,000
NEAHSNE ds2UdAEXAY(BEX) 2,153,000 2,392,000 A 239,000
= 2,153,000




A =
H: MEHIISHMe L NHEHEE(#IES/HIIS)
©el: HgEzel ¥ 2 (FAMNESEIA)

SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
403 MtXISHHE =01 & 2,153,000 2,392,000 A 239,000
= 2,153,000
02 S| 2 S0l CHSHCH & A B 2,153,000 2,392,000 A 239,000
OLEHINE a2 EXAY
2,153,000,000& 14 2,153,000
= 2,153,000
MEHIISNHASH(EAALSESIA) 10,420,137 9,790,077 630,060
= 5,500
< 27,000
Al 10,387,637
AHEMEE 29 9,605,092 8,896,436 708,656
201 L2l 51,023 50,963 60
01 At 22l 36,640 36,640 0
O1.det==2Hl 31,180
-HEES FUEES 7 2,500 1,80004 4,500
-HEES =¥ 0t 7+ 220& +15,00004 3,300
-Ho %S ?IE Al 500,000 8= 4,000
-SASM D 2el=s=A 2,880
ERIE L =HYY AdUHE HMH
100& =18,0000H 1,800
=12 2 BHE ol 2EHA WME
200& =5, 4000H 1,080
-AEz=sEels g 2 16,500
HE&2s 2cl=HE 50, 000& =504 2,500
L2ENEME =&&  200,000& *30M E 6,000
T HAEX =TE 30,0002 10074 3,000
SASMY I S2==HE01(120¢ )
50,0002 10074 5,000
03.2g8=¢ 2,100
-t S8s =2us ZA2  70,000& *302 2,100
O5.2&Hl 3,360
—SASEMYD Bels=HYRFA S4
7,000 «4H«102 « 122 3,360
02 2324l 14,383 14,323 60
O1.3322LHA 1,160
—SASMYI =AHEI MEAXE 1,160
BE= 800,000 »1CH 800
BIMNERES 180,000& = 1CH 23| 360
O4. Xt o el 13,223
—SASMAYI =AHEI MAXSE
13,223,000& *1CH 13,223
202 (4dl 4,320 4,320 0
01 = LH o4 1l 4,320 4,320 0




A =
H: MEHIISHMe L NHEHEE(#IES/HIIS)
t 31

Ce MEHISNHIS(E AL SES (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
OSA2 2 WERE =claA A== 00]
60,0003 *4H 3 63 4,320
206 M= Hl 36,800 36,800 0
01 =4l 36,800 36,800 0
O & (1 ) 7 5,500& +3,6004 19,800
oggd(1y ) ¢ 3,000& *1,6004 4,800
OMNE S H 7& 20,000& 100 2,000
OPETE +¢ 3503 *22,00074 7,700
OMg =83 (2004 ) ¢ 500, 0002 *5H 2,500
207 A RO 35,000 30,000 5,000
01 23 39H| 35,000 30,000 5,000
O+ dEHII= =328 WX IS
S 20,000, 000& 20,000
OSASMY I +F28 U Helad ME B
15,000, 000& 15,000
301 et a = 8,064 8,064 0
09 AL HI B &S 8,064 8,064 0
Os1=3 e dH NESAMT =S4
7,000 «4H « 122 « 122 4,032
OH=EIHH K& S AR 54
7,000 «4H « 122 « 122 4,032
307 glz2+ol & 9,429,885 8,766,289 663,596
05 RIZHRI &t 3 9,429,885 8,766,289 663,596
OZSZUMEHIIS +T28 248
2,821&%119,000MI CH+12& 4,028,388
OgAEMYIl +FSE L Hel
132,326 +3,086=E+12& 4,900,297
OUEHEANSE sASXdIl /A He
62,6503 *40E 200 501,200
401 Al HIZ 201 Y] 40,000 0 40,000
01 A& HI 40,000 0 40,000
ONMEESHEH &4=2AE £X
40,000,000& =14 40,000
S1=Es UsEH 16,200 16,200 0
201 €24l 16,200 16,200 0
03 A2 Z Hl 16,200 16,200 0
OZ1ES UsZH A 16,200,000 16,200
NeEE +H8EA42X3 (BX) 70,000 100,000 A 30,000
< 21,000
Al 49,000
301 et d = 70,000 100,000 A 30,000
< 21,000
Al 49,000




2N
CAMEHIIEMNE ¥ HEWEE(BIES/HIIS)
t 3

el

X ZH
S =

EEnt

MBS HIISAHASH(E LA

= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
MIIEELES 70,000 100,000 230,000
OMESE 23243 20,0002 +3,500 70,000
< 21,000
Al 49,000
REIDSASMY Il Z2AAE 2= 391,345 242,141 149,204
201 Let24dy] 228,640 208,436 20,204
01 At 2teltl 39,600 36,000 3,600
O1.eet=2Hl 39,600
-SASXAI HEHH BEAY
60,000 550 x12& 39,600
02 =224l 189,040 172,436 16,604
O3. A€ ZHI =Xl 189,040
-SASAdI AEEH KA L4
1,660,400,000& *10% 166,040
-SASMAD otE AEEH WM
2,300, 000& =10CH 23,000
301 et a3z 62,705 33,705 29,000
MIEE4d3 62,705 33,705 29,000
ORFIDES =& SASMAIl SN Zobx==
= 30 x50kg*1,200CH *2.5/100+365 16,425
OSASXdI SEM ASEEH dIles X
1,200& *1,20001 x 12 17,280
OSASXdI 28 2+ SSFHY A4S 29,000
X 2= 2,000,000 *20 2 4,000
R 1,000,000& *109H A& 10,000
- 500, 000& *300H 2 15,000
401 A& HIZ 201 I 100,000 0 100,000
01 A& HI 100,000 0 100,000
OSASMdI SEH ASEH =M
100,000 =1, 000CH 100,000
CHEEZASMY D M =& 312,000 513,300 A 201,300
201 €24 222,000 193,300 28,700
01 At 22l 222,000 193,300 28,700
O1.get==2Hl 222,000
-HEFE SASMYIISEMHM EE=S MH
2003 22, 50004 4,500
-SASAMI Mel =28 2y EEE M
0& *200,0000H 14,000
-SASMYI E01J] EE=2 ME 14,700
MG 702 *90, 0000H 6,300
HH L 110,000& 40K 4,400
o) 300,000& x5 23| 3,000
a0 (AE) 50,0003 *5J1 x4 3] 1,000
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2N

X ZH
S =

el

EEnt
gl Mel ¥ AR

MBS HIISAHASH(E LA

SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
U= SASAHOIESH AEIAMCK
B 188,800
50 403 *3,000,0000H 120,000
204 40& 500, 0000H 20,000
604 403 «500, 0000H 20,000
1204 40& *720,0000H 28,800
402 2I2H X201 M 90,000 0 90,000
01 It 2 AL E X 90,000 0 90,000
OSASMYI| 23 AEAY X (S2)
500,000& *300CH *60/ 100 90,000
sSEHHE N BEAS(BX) 25,500 22,000 3,500
= 5,500
= 6,000
Al 14,000
301 g4 = 25,500 22,000 3,500
= 5,500
= 6,000
Al 14,000
1MIIEBESS 25,500 22,000 3,500
Os& HHE=H243 10,000& *2,550& 25,500
= 5,500
= 6,000
Al 14,000
HY2AZ Y (HA0)(JIEHIIE 18,052,040 17,925,295 126,745
OIHASIEH(HADN)(BAMLSLEIA) 17,894,040 17,768,874 125,166
2AHE2 A 17,894,040 17,768,874 125,166
101 @144 Hl 17,894,040 17,768,874 125,166
03 RIAHAZ 2T E =+ 17,894,040 17,768,874 125,166
O1.2&0I13& 15,365,486
-Jles 1,262,800& 312 »12& 4,727,924
g 1,902,800 312 »200% 1,187,348
-E2=E 1,902,800 x312H »180% 1,068,613
Ml & ChE Y| 1,902,800 312 »300% 1,781,021
A= 238,868
i < Xt 40,000 *312% +0.78+12& 116,813
JIEI IS 20,0003 312 +1.48*12& 110,823
LI (A TOE Of &)
50,000 *312Z *0.06*12& 11,232
SR 90,0003 *312H +12& 336,960
e R RS R =y 70,0003 x312H 12 262,080
- A G A 160,000& *312H 123 599,040
-JtH 2 &8I 110,000& *312H x 12 411,840
-wE 22| 140,000& *312H 123 524,160
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M HA
Ba: WS YA (AT (OIEH/IIE)
CHel: OIS RIY(HAM)(HAANSELZH) (Sl & &)
SA - FE - BI(EA) - NRAY - By 0l b SSa DS
-E 2 F Il 1,902,800 x312H »150% 890,511
—-2F A 5,000 «312H »222 «12& 411,840
-0fAZ2RY 62,2102 «30F «5 L x 128 111,978
-Fe2R=E 116,6403 x312H 20 727,834
-HRSFIGE 105,000 *312% 20 655,200
-l 70,000 *312H «12& 262,080
-2 23,3203 x312H x 12A 2t 87,311
-NHHEH xS
463,300 *312H *0. 15%4 3] 86,730
A= =¥ 200,000& x12H « 123 28,800
-EAZ 3,300,000& x8H 20 x1.5 792,000
-0 AHES 46,3003 +312H « 128 173,348
O2. BRI AHAL 2 2 Xt 192,305
-& A 31,027
s 41,5203« 1H 261 10,837
a03 10,837,000% * 1 x1/12%400% 3,613
SEFIHHl 10,837,000 x1H «1/12%120% 1,084
SL22H 58,0643 « 18 » 142 «150% 1,220
Xt 58,0643 «1H 202 1,162
MRS ] 50,000 «1H « 122 600
TANLRAZRE
7,258@ 18 *150%* 10Al 2t =128 1,307
NHHSHIE X +=E 463,3003 1 x4 2| 1,854
A G A 130,000 x1H «12& 1,560
L= 1,560
= Ui S Kt 40,0002 «1H « 128 480
* J|EILS 20,0003 «2H 122 480
* SUTHOF Of & 50,0002 «1H « 128 600
=4 41,5203 «1H 522 2,160
d2=E
10,837,000 » 1% *1/12%50%*23] 904
HNRPE 100,000 x1&H 122 1,200
2EIMZ 41,5203 «1H 5L «12& +50% 1,246
Pl =G 50,0002 «1H x 128 600
?M= 60,0003 1 »23] 120
-Xcl& 111,668
s 40,4203 *4H 261 42,199
a0= 10,550,000 x4 H *1/12%400% 14,067
HEFItHl 10,550,000 x4 H «1/12%120% 4,220
sLd22E 52,2563 *4H 142 «150% 4,390
Xt 52,2563 «4H «19L 3,972
S B+ 463,300 x4 X x43] 7,413
ws2 Xl 50,000 «4H 12 2,400
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SN HAD
M HHE2HAH(HAM)(IIEH/IIE)
CHel: QIESIH(HAW)(HAANLSLESH)
SA - ZE-B(EA) - NRAY - B S il &t o il
NEFECEY
6,532% x4 *150%* 10Al 2t x 128 4,704
g A 130,000& x4 H »12& 6,240
T EsE 4,080
* B < Xt 40,000 *4H 122 1,920
* J|EHIHS 20,0003 «4H «12& 960
* SUTHOF Of & 50,000 «2H 122 1,200
Fed 40,4203 «4H «52 8,408
2H0ta3 40,4203 x4 x4 <123 x50% 3,881
Basy
10,550,000 *4H x1/12x40%*23| 2,814
Pl =G 50,0003 «4H «12& 2,400
Fl M= 60,0003 x4 x23] 480
-S=slgd 26,153
2s 40,4203 +1H 261 10,550
a03 10,550,000 * 19 x1/12%400% 3,517
HAEFIEl 10,550,000 » 1 *1/12%120% 1,055
Xt 50,3442 «1H » 182 907
AAESHEEE 463,300 x 1 43 1,854
ZFAHZ A 130,000 x1H »12& 1,560
s 1,200
* Ui < &t 40,0003 1H 128 480
* J|EtIL S| 20,0003 «3H 122 720
FETEY 40,4203 1«52 2,102
Basy
10,550,000 * 12 *1/12%40%*23] 704
25043 40,4203 #1H x4 <123 «50% 971
IME=SEN] 50,000 1 128 600
A2t 22+
6,293% * 1 *150%* 10Al 2t =12 1,133
-= X3z 2te] 23,457
s 40,4203 +1H 261 10,550
&03 10,550,000 * 12 *1/12%400% 3,517
HYAHZOMHl 10,550,000 * 1 *1/12%120% 1,085
SPE=, 49,5683 1 x18L 893
A Z A 130,000& x1H 122 1,560
T ItE=sY 720
* Ui S Xt 40,0003 1«12 480
* J|ELILS 20,0003 «1H 128 240
Fexd 40,4203 1 52 2,102
d2+g
10,550,000 * 12 x1/12x35%*23| 616
2EIHAE 40,4202 x 1H +3L <128 «50% 728




M HA
N HYSSIH(F2U)OIE/IIE)
CHel: OIS RIY(HAM)(HAANSELZH) (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
nsE =l 50,0003 1«12 600
NEEEEES=
6, 1963 1 «150%=* 10Al 2t x 122 1,116
O4.8Z 0|3t 1=l 116,014
-HYs 90,0003 312 *23| 56,160
-9 20,000& »312H 6,240
oM (OF ) =T 25,000 312 *23| 15,600
-ghet &2t 20,000& »312H 6,240
- 2R 12,0003 312 *23| 7,488
—-orM ot 50,000& »312H 15,600
—OHMEHE 40,000& 504 2,000
-or& 2 Xt 10,000& »82H 820
~HEOGAI(STA)  1,300& 94 435|128 5,866
Ol 22z ¥ EE& 1,700,635
-20013 ¥ BAXRY
16,266,800, 000& *4.50% 732,006
-HLEER 16,266,800, 000& *2.82% 458,724
-IESBEaE 16,266,800, 000& *0.65% 105,735
MHEEZ 16,266,800,000& *23/1,000 374,137
-“LOEIIQUYEER 458,513,000 *6.55% 30,033
Oodlilstd &sd =X 452,400
—HEH 1,300,000& *312H 405,600
S 300,000& 1569 46,800
Od0Istd OlRsldH 24
50,0003 *312H *23] 31,200
OZ0Istd HEEAX 223 dXXAS
900,000 »30H 27,000
OgZ0lad LE22 X HdaX A
900,000& »10H 9,000
Jl2ZH(HAD) (FAMESLESA) 158,000 156,421 1,579
k] 64,660 64,981 ~321
201 Let24d]| 64,660 64,981 A 321
01 At 22l 62,260 62,581 A 321
ORN2Y LE=EH| 5,580,000 5,580
Ol 53,600
-2 50,0003 12 1142 «301 & 17,100
-= | 50,000 *1H #3652 20 A& 36,500
ORN2YE =&l 3,080,000 3,080
02 =24l 2,400 2,400 0
ON3ea 50,000& ~4CH =128 2,400
o2 =01l 87,600 86,400 1,200
202 Oddl 87,600 86,400 1,200




A A0
X

M HHE2HAH(HAM)(IIEH/IIE)
¢ D2 (FA0) (BAMSSES ) (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
01 = LH o4 1l 87,600 86,400 1,200
OFYSFAAHE 20,0003 +27H 10«12 64,800
OSER FRULEOY
10,0003 x19H x 10 123 22,800
SR FAH 5,040 5,040 0
203 YR =&t 5,040 5,040 0
04 EA2IYRFLH| 5,040 5,040 0
ORHSLAREAY (e 442) 5,040
-2 350,000 »12& 4,200
-Z= 1 5,000 «14H 122 840
e 2 =2 SFHSEHI 700 0 700
405 XtatE SHI 700 0 700
01 AL = ZH SHI 700 0 700
O=2 A AHIED] 700, 000& = 1CH 700
Hees(H3LAM)(BZ2ES/HIIS8) 4,389,175 3,562,373 826,802
HEHHXS(HAANSELHSIA) 2,661,975 1,835,173 826,802
JISdES 704,000 438,036 265,964
702 013HES 704,000 438,036 265,964
M II2d8E3 704,000 438,036 265,964
OHYIE MelAMd FHIeXS =eUXFII= 704,000
-S=slHg®d 704,000,000 704,000
Ad2e2e B3 (HSAMLEE) 46,696 46,020 676
309 HES 20,696 20,020 676
01 SAt- SHAYEES 20,696 20,020 676
OAE 22l NSAHE JLdES 20,696
-MYJIESEM AASE SSUHA
20,696,000& 20,696
404 SASHUA=2EES 26,000 26,000 0
01 BA-SEHA=EEZ 26,000 26,000 0
OAM& e MSALE AN=2dHES 26,000
-MAYIISEM AASE S0
26,000, 000& 26,000
Ag2ese 3&52(822018d) 1,911,279 1,351,117 560, 162
09 MEZ 1,839,279 1,348,017 491,262
01 SAL- SHINTES 1,839,279 1,348,017 491,262
OA&£2tel3 ZHIeE JHEES 1,839,279
-HEHEE 29 1,839,279,000& 1,839,279
404 SANSHUA=2EHES 72,000 3,100 68,900
01 BA- SEHA=2EEZ 72,000 3,100 68,900
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